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8) 2x + 7y = —26 X2

Solve each system by elimination.
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Solve each system by elimination.
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1) Norachai1 and Nicole each improved their yar lanting rose bushes and shrubs
supplies from the same store. Norachai spent $208 on 14 rose bushes and 8 shrubs
on 7 rose bushes and 6 shrubs. Find the cost of one rose bush and the cost of one s
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2) Mike and Ashley each improved their yards by planting grass sod and shrubs. The:
supplies from the same store. Mike spent $65 on 8 ft* of grass sod and 1 shrub. As
ft? of grass sod and 10 shrubs. Find the cost of one {t* of grass sod and the cost of «
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